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SapAFis = 1 60, 893, 070
E 3= 2V 1 46, 630, 590
SEPHBREL T = 1 46, 630, 590 | BREL 103, 000 m2
(CVZAES))
[0 835, 000 m2
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[0 107, 000 m2
AN R
[0 195, 000 m2
U8 80
L 1 =K
(ANTD)
A2 1 =
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(FAEL)
TR (GERSFRE) 1 =K
nN"7)
TR (GRS FRE) 1 =K
DDHE (M)
TR (GRS FRE) 1 =K
(HAE1)
PEBAEAE T 2V 1 3, 262, 100
RABRAR T = 1 1,998, 100 | kA {&7T 10, 000 m2
AR ()
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BRAR A () 5
PRAf 10, 000 m2
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R AfE T 2V 1 767,220 | TE AR (FEIE - BT 300 m2
179v%77 C-30 £ Y E 100mm ;
)8 (BIE - BEE) 300 m2
AR ET A2y (13) &%E/E 40mm 1. 4mPL E3
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E L 2V 1 1,788, 070
BESFALER T 2V 1 1,788,070 | BERESTALEE 263, 000 m2
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HERREEIFILEE (N ) 40LEE) 100 m3
HEREBE S I AR (N T L) 1 =K
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SR LER T = 1 6, 384, 800
I AALELERE T = 1 5,474,000 |JnAafE¥ 1 K
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LSSV Sy 2V 1 1, 766, 290
B AEERTI T = 1 620, 000 | B2 T I 3K AH, 1 =,
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KETH BRI T = 1 789,400 |AANTzATE - HEE 10 ]
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SGan = 294, 000
R L = 294, 000
B T H = 60, 893, 070
S S = 7, 656, 400
eI R 2 = 2, 004, 400

R =, 397,400 | HEEFRHEI Y MRAR TG 5 2 1 &V
BUGBRE SRR (R L) = 1, 607, 000
B EER T (5T 1) = 5, 652, 000
I X = 68, 549, 470
B PR = 25, 113, 000
TR = 93, 662, 470
— R A PR A = 16, 077, 530
T HAfiks = 109, 740, 000
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